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Can’t Condition 1NC
A. Interpretation. The affirmative cannot condition the plan on external actions
1. Resolved means to make a firm decision about

Random House Dictionary 2011 http://dictionary.reference.com/browse/resolved

to come to a definite or earnest decision about; determine
2. Should expresses obligation or duty
American Heritage® Dictionary 2007

Used to express obligation or duty

B. Violation – the affirmative does the plan on the condition that other countries agree parts of a treaty
C. Reasons to prefer

1. Predictable limits – the affirmative could literally condition the plan on anything and then claim advantages on those conditions. The affirmative could never prepare for these conditions
2. Ground – the aff can spike out of all of our disads based on US action by claiming that the plan would be an international action

3. Aff Conditionality – Circle this argument – their makes it possible that the AFF NEVER HAPPENS. This makes us debate solvency to determine whether or not they actually result in space exploration.

4. Effects – even if they win that the eventual result of the plan causes the US to mine the moon, they spike out of all of our disads by securing international cooperation first. You should evaluate the plan text in a vacuum.
D. T is a voter for fairness and education and should be evaluated in a framework of competing interpretations

Can’t Condition 2NC

Extend our interpretations of should and resolved – the affirmative must unconditionally affirm the resolution. You should draw a line in the sand when it comes to questions of aff conditionality – it makes being aff impossible because not only does the plan text not guarantee action in space but it becomes possible that the aff never happens.
Extend limits – the affirmative can literally condition the plan on any international action under their interpretation. Negatives would be expected to research and have answers to every instance of possible international cooperation, shifting the focus from space and giving the affirmative a huge advantage.
They also kill negative ground. Many of the core negative positions on the topic are related to unilateral vs multilateral approaches to space policy. They spike out of all arguments against US action by securing international agreement. Also, allowing conditions counterplans solves any education argument the affirmative could possibly make.
Aff conditionality is the worst theoretical impact in debate. The aff literally doesn’t have to defend that the resolution happens because other nations could say no, making them a moving target. 
View the plan text in a vacuum, any alternative kills pre-round prep. They literally only allow a treaty to be ratified, but don’t even ATTEMPT to develop or explore space. Even if they win that the plan allows space development to be more efficient, that doesn’t mean they’re topical. 
T is the biggest voting issue, and I know you didn’t just try and say reasonability. First, the aff’s interpretation isn’t even close to reasonability. All of our standards are reasons their interpretation is unreasonable – it explodes the topic and makes it impossible to be negative. Also, reasonability is very arbitrary and relies heavily on judge intervention. You should leave the debate in the hands of the debaters.
